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What does each bubble represent?

(I

The colour shows the region. Name the regions
below.

Green =

Yellow =

Blue =

Red =

What does the size of the bubble represent?

Which are the two biggest countries and in which region do you find them?
1
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On this graph, what does the X-axis show? What does this mean? You can use the GDP video on
geographypods to help you.

On this graph, what does the Y-axis show? What does this mean? You can use the life expectancy
video on geographypods to help you.

Circle the countries that have a high income and high life expectancy on the graph overleaf.

Circle the countries that have the lowest incomes and lowest life expectancies.

Using the France bubble chart hyperlinked through geographypods, answer the following questions:

Why did life expectancy drop in France in 1870-18717?

Why did life expectancy drop again between 1912 — 19177

Why did life expectancy drop again between 1942 —1944?

How does income (wealth) link to life expectancy (health)?
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